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Section 1 - General Knowledge

1) Who among the following appoints the Chief 1) Rsfered & & #I wq & q&7 [ar= a2 Hl =Ih

Election Commissioner of India?

FLAT 872
A) President of India A) AT FT TR
B) Prime Minister of India B) WT<d T TLTHEAT
C) Attorney General of India C) 9TEd T HEFATIATT

D) Chief Justice of India D) ATZT T q&F ATt

2) The sweet taste of fruits are due to

2) e T T HIST T HT & 2rar g ?

A) Maltose A) dTe=TE
B) Ribose B) TT=aH
C) Glucose C) e
D) Fructose D). e

3) Name the movement which is the living example of 3) I SfETA= FT AT FATT ST a41 % I § ATATT o9
general public awareness about forests?

STT&HAT & TF S(ad IET20 872
A) Chipko Movement A) =TT st
B) Quit India Movement B) 9TXd FIET siarae
C) Green Revolution C) gia wifar
D) Van Mahotsava D) a« Hgeaa

4) "Namma Metro" is the colloquial term used for the 4) “7¥dT W FFd w8 & Hl ¥ & 0 UH T

metro rail in QrERTAAT 52
A) Jaipur A) ST
B) Mumbai B) 'EPEI%
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C) Bangalore C) ST
D) Hyderabad D) &=<reTe

5) The Henley & Partners — Kochenov Quality of 5) e & UTEAH - HIAATE Flclal 3F ATl T2
Nationality Index (QNI) provides a comprehensive (QNI) 3T AT FT TEIAATS o TOTETT FT T ATTH LT
ranking of the quality of nationalities worldwide. &9 #FXaT gl FIferdl Aol =99 (QNI) 2017 F

According to the Quality Nationality Index (QNI) 2017, HaTia, farsa & FATAH & FT 39T DI 7 572
the top ranked nation in the world is

A) France A) wH

B) Japan B) STt
C) Sweden C) =
D) Iceland D) srzaeE

6) The Dandi March, also known as the Salt March and 6) =Tt 7T, {59 Aoz ATH 3T TSt TANE & 719 T«

the Dandi Satyagraha, led to which of the following ST STTaT g, f=ferfea § & o sfigia &7 &ena aar1?
movements?

A) Civil Disobedience Movement A) FEFT Ta=T AT
B) Non-Cooperation Movement B) SHEANT S

C) Chauri Chaura Incident C) F-=1<T FiE

D) Quit India Movement D) 9T3d FIET e

7) The ruler of which of the following dynasties 7) &R & Wierg & AT &1 FHIT FXATH ATAT AT
constructed the Famous Sun Temple in Odisha? Aertertera Trsaet § 7 e "@&taq g2

A) Ganga Dynasty A) IR TSTIAq
B) Chola dynasty S EIEEIEEL
C) Kadamba Dynasty C) Fdd TSTaLr

D) Pallava Dynasty B)REEEERISEH]
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8) Which of the following Lines was published on 17 8) WTed &T 9T M 9%, A ¥ ITfehed= & =
August, 1947 as a boundary demarcation line between T¥gasal ¥@T & &7 § 17 30T&d, 1947 &l Aufefad # 4

India and Pakistan upon the Partition of India? AT | AT T FT TS o2
A) McMabhon Line A) HFHTEA ATSH

B) Palk Strait Line B) U e AT

C) Radcliffe Line C) =T AT

D) Durand Line D) g€ e

9) Article 80 of the Indian Constitution lays down the 9) AT HiFLTT & T == 80 & TEd LSATAT & HIEA[
maximum strength of members of Rajya Sabha as: & srfersraw HeaT a8 gl o

A) 250 A) 250
B) 233 B) 233
C) 238 C) 238
D) 245 D) 245

10) What is the number of chromosomes in a normal 10) TR AT T T FITART H FHIHIETT hiT TEAT FT

human body cell? g?

A) 40 (2 pairs of 20) A) 40 (20 F 2 STT2)
B) 42 (2 pairs of 21) B) 42 (21 % 2 |I2)
C) 44 (2 pairs of 22) C) 44 (22 % 2 TI2)
D) 46 (2 pairs of 23) D) 46 (23 % 2 |12)
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Section 2 - Logical Reasoning

11) Which of the following diagrams indicates the best 11) {95 & & &I A7 =3 e, 7 i 9 % S GO FozT

relation between Fruits, Mango and Apple?

12) Area of a rectangular plot is 440 sq. m. & its length
and breadth are in the ratio 11 : 10. The length and
breadth of the plot respectively are

A)22m,20m

B)10m, 11 m

C)5m,10m

D)11m, 10 m

Taey gierd Fwear 82

A)
B) 4@?
C) @

D) 1C 0}
vy

12) TR FTATHTT TATE T &%l 440 F7 H12X § 3T Toehr
FaTe qgT FTETE 11: 10 F AquTT | 21 wATe i |4rE 37
%ﬁ.%'r%mser:%

A)22m,20m
B) 10 m, 11 m
C)5m,10m
D)11m, 10 m

13) Ruchi is the sister.of Sehaj and mother of Vineet. 13) &=, Tgst T ag= ¥ fA=a it 7rar 81 &, Teher
Vineet is the brother of Rakesh. How is Rakesh related T ATS g Tl &1 &= & FAT G 872

to Ruchi?
A) Son

B) Brother
C) Mother
D) Nephew

A) T
B) we
C) wTaT
D) wefisiT
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14) There is a certain relationship between two given
words on one side of :: and one word is given on
another side of :: while another word is to be found from
the given alternatives, having the same relation with
this word as the words of the given pair bear. Choose

the correct alternative.

Supreme Court : Centre :: High Court : ?

A) District

B) Regional
C) State

D) Subdivision

15) There is a certain relationship between two given
words on one side of :: and one word is given on
another side of :: while another word is to be found from
the given alternatives, having the same relation with
this word as the words of the given pair bear. Choose

the correct alternative.

CAT : ACT :: HAWK : ?

A) KWAH
B) AHKW
C) HKWA
D) AKWH

14) T T T 9TeaT o 19 e T g, % Teh a<h oY o
* AL TF T 9168 (<37 TAT gl T UF o7 9% QU
T faeedt ® & 918 FohaT ST 8, =9 fosheT &1 agr avaeer
ST ATRY AT {30 T0 915371 o TS & 14 | Tal oshed &
ESIERTIEL

T FE : Fig 2 gL FIE 2 ?

A) e
B) &=
C) 5%

D) 3uEs

15) fau w7 oreal F S FIS AR 0 % Uk a9 Y
*F AL ATF U 9153 (AT AT g1 TatF UF 97 9% f{7u
T faeedt ® | 9T FoRaT ST 8, 39 fAseT &1 agr avaeer
SHT AU ST f30 T0 931 o SATS & 1= | Tal owhed &
ESIEETEL

CAT : ACT :: HAWK : ?

A) KWAH
B) AHKW
C) HKWA
D) AKWH
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16) Dhoni makes 172 runs in the 18th inning and thus 16) €=t 18T 9T § 172 T aTAT § 3 T THh1L STFT
increases his average by 8. The new average after 3f&d 8 &g STaT g 18T I & dT& AT 3&q F4T 82

18th inning is
A) 41
B) 40
C) 28
D) 36

17) Three among the four pairs belong to the same

group. The odd one out is.
A) assam:massa

B) sikkim:mikkis

C) delhi:iheld

D) bihar:rahib

18) How many squares are there in the following

figure?

Ox

A) 1
B) 2
C)0
D)3

A) 41
B) 40
C) 28
D) 36

17) 9 SISt & F 9 TR S A9 F S| T T T R
arg?

A) assam:massa

B) sikkim:mikkis

C) delhiiiheld

D) bihar:rahib

18) Frerferfr s & fray o 22

Ox

A) 1
B) 2
C)0
D)3
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19) What is the next term in the given series? 19) ¥ < J@AT H (T HEAT FT 52

The series is 30, 57, 111, 219, ?
A) 427
B) 435
C) 457
D) 421

et &: 30, 57, 111, 219, ?
A) 427
B) 435
C) 457
D) 421

20) Which is the least number, among the options 20) f3T T faedt ¥ & a8 Ta# DIl §edT Hid 91 g, o
which when divided by 6, 7 & 12 leaves a remainder of 6, 7 =T 12 & oo f&6aT ST 1 82 8 § 5 9

5 in each case?
A) 77
B) 65
C) 89
D) 98

FAAT 872
A) 77
B) 65
C) 89
D) 98
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Section 3 - General Hindi

21) Ffrfaa 9real & FHeT: Tel T =aT=r gt —
av, T, 7

A) AT, IS, GEE
B) f&z, &=, famfw

C) 9ITgd, Fore, §a1q
D) 9T, I, A&AT

22) HgTal &1 @at o1 & fHere fifsm -

1. (@ TRTSET @, JTehT ST

2. Fie g b. T8 @A T ST

3. SRIIMTTGHET ¢. TEET T IdT o AT
4, FAT GAAT d. == foeg w1 Fr

A) 1-a, 2-b, 3-c, 4-d
B) 1-c, 2-a, 3-b, 4-d
C) 1-b, 2-a, 3-d, 4-c
D) 1-d, 2-a, 3-c, 4-b

23) ‘ZH ST qTH 3T LTH FT AT ST g1 Ih ATHT | I |7 9N T 572
A) ST E

B) & sraed

C) &7 A [

DERETIE

Page80f33



Set Id : 49761 36

24) TEATAT FIF 9T G782
A) THEATIF
B) STfaaT=e
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K IEEIEET

DEINEIEET

25) ‘g’ FIT AT 7% g7
A) Zers

B) fazeft (smra)

C) Teaw

D) T

27) ' 3|t 7 AT 9re7 B-
A) gfaaTat

B) 9ot

C) wfage

D) sreret
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28) eTsal I I A ¥ fAeTsy -

1. o= a. TAa=
2. =99 b. 77
3. 3w C. FAAF
4. %27 d. sTHT

A) 1-c, 2-d, 3-a,4-b
B) 1-d, 2-¢,3-b, 4-a
C) 1-a, 2-b, 3-c, 4-d
D) 1-b, 2-a, 3-d, 4-c

29) Mt ereal & FHeT: Tel TN gl —
T, Ha®, ded

A) Fre, feremar, am
B) fafer, faw, rfy

C) seimafa, =mae, offa
D) srqed, 9, e

30) HEAT H MTET FAT T2 HIA *F ATHA TATHH o o S F dg Tg<f #18 & ST I4T|
AT & TR 39T TeIT It Gra<T g -

A) Tz ateaT
B) T&T W I ST

C) 31T T femm

D) I & WITHT
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Section 4 - General English

31) Identify the Antonym for the word - simultaneous

A) asynchronous
B) chronic
C) concurrent

D) coincident

32) Identify the part of the sentence that has an error: The cookie jar is lying empty in the table.
A) lying empty

B) The cookie

C)jaris

D) in the table

33) Identify the synonym for the word - stupefy
A) daze

B) clarify
C) shorten
D) block

34) Choose the correct word substitute for the following sentence: One who distrusts, dislikes, or hates other
humans in general and avoids society

A) egotist

B) misanthrope
C) anthropologist
D) misogynist
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35) What kind of a phrase is the underlined part of the sentence? The donkey ate a lot of hay, so the cows
could not get enough.

A) Adjective Phrase
B) Adverb Phrase
C) Verb Phrase

D) Noun Phrase
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Section 5 - Basic knowledge of Computer

36) In Excel, for any given input IF() Function has only 36) Taae ¥, feT fow 70 =992 IF( ) % & forg e

A) 1 output ERRIEIEEXCEAR R
B) 0 outputs A) 133292
C) 2 outputs B) 0 str3qe
D) 3 outputs C) 2 :r3dqe
D) 3 3=

37) Which of the following converts analog data signals 37) Fe¥ T ITH.EIH T TATANT a1 8 FT Rirea
into digital data when it is being received by the =T # A% & & g =Uiafa T 2

computer? A) ﬁtﬁg;@g—{

A) Demodulator B) HAieIeIeT

B) Modulator C). U&AT

C) Antenna D) Fedtwrsra

D) Multiplexer

38) What do you mean by an online service, platform, 38) AaTE AEH, TahIH AT AT & STTHT FAT ATTATT

or site that focuses on facilitating the building social g ST fZaf, Tfafatemt, g« a1 areatas® staq §ae &
relations among people who share interests, activities, TTHT FIA AT ARM % S THTIOR Gaell & FHIT AT

backgrounds, or real-life connections? EAgTS® a1 92 Hiad aid &2
A) Corporate Social Responsibility A) Fiaree Tqrae fReatteataterdt
B) Data Communication Service B) TeT FFIAHeT Hiaw

C) Social Networking Service C) T SaafaT afde

D) Computer Networking D) FFgex deatat
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39) Which of the following processes can convert 39) fAeferfaa ® & = €T THAT HhaTeTT o T FTLTIT

cipher text to plain text? g § gfatdd H% gl 8?2
A) Hashing A) gfer

B) Substitution B) Afereage™

C) Encryption C) ufesrerT

D) Decryption D) e

40) Malware is also known as

40) §a=< T =8 A9 | AT ST ST 8

A) Malicious software A) grferforr aiveaa<
B) Mail Software

B) AT HIFeaIY
C) Missing software C) fafer Atreagx
D) Messaging Software D) HESRL AT g

41) Which of the following webpages are considered 41) fa% & & FI9 AT ITUS ITHTSE % TZA UST & =T | AT

as the first page of the website and it provides SITAT g ¥ Ig daHTEe 6 ATAFHILT AaUSIT TL AT T
navigation to most of the webpages of the website? FLAT 872

A) Owner page A) AT IS
B) Home page B) 2% st

C) First page C) ®¥ Il

D) Startup page D) T U

42) Wheel located between the two standard buttons 42) ATSH & I HTHF de1 % o1+ (€T Fge T STANT {ohAT
of a mouse is used for

STt 8
A) Click on web pages INEERER A ECEaT ATy
B) Clicking B) e & = forg

Pagel40f33




Set Id : 49761 36

AO SBO JLM TG_04-Nov-2018 BATCH1

C) Scrolling
D) Selecting

43) Which of the following network categories
provide long-distance transmission of data, image,
audio, and video information over large geographic

areas that may comprise a country, a continent, or
even the whole world?

A) Hybrid Area Network

B) Metropolitan Area Network
C) Wide Area Network

D) Local Area Network

C) &It % & forg
D) #eiee Fed & form

43) fmrterfera & & i o Feas Aoft, a2 AiRTors e §
T2, TAS, AffeAT ofiw ARTT TWFET FT AT T F
ST T&TH el ¢ (Sr|H U 39T, AHgTGIT, a7 Tg7 a o6
=T forsa ettt gt @ehar g2

A) grefas TRaT Jea®

B) HZTdI{ered URAT Fea

C) ATz UfAT deas

D) T TRAT qedeh

44) Which of the following actions should be performed 44) SIsh I %e TFIA § "HiHe Yo' &l Fs d1C
in order to use the 'Format Painter' multiple times in MS" FHRTTAET START #34 # foru Aaferfed § & fa«r

Excel?
A) Double click on the format painter icon
B) Click on lock format painter icon

C) Double click and drag the format painter multiple
times

D) Click on multiple use option under format painter

o o o
ERIREAG] 1=|||‘§'\’?

A) FiHE Yo7 AT T =9 fareh

B) i ®i¥ie Ye s I &

C) ®IHE YaX &l Fs ATC T el ek AT
D) ®ife Ye¥ & Siaud Heele Jof 3w 9% o

45) Which of the following malwares is used to spy on 45) F&fefad # & #I9 A7 49aY Fe9e B 9% SATgHT
the computer system to get all the confidential and Fx= & forw I9=ET fFaT STaT & atfer &+t T &
sensitive information such as your bank account HaEAsfe FTHEET SH & AMTF g% GTT i AT AT

numbers and passwords?

ITHEE ITH &1 Ta6h?
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A) Spyware A) AT
B) Adware B) T=ad¥

C) Trojan Horse C) IS gT&
D) Anti virus D) Ut amaeH

46) Which of the following options can be referred to 46) Mafered faFeat & & fras dgd Tetde T STy
as HTML-based reference to a resource available on #&Tee & forw HTML- sremfia da+ a1 7922 F q=8d UTH

the internet or within the computer hosting a web & StFIHe & ST FIAATH & €T § HarSq &ar ST
document?

qHAT 872
A) Cookie A) T
B) URLs B) URLs
C) Hypertext C) gTeueaee
D) Hyperlink D) grzu<feis

47) Select the shortcut key to get the copyright symbol 47) MS € ® &idiXTze fovae = o erféane T i |1 g2
in MS Word?

A) Alt + Ctrl + C
B) Ctrl + C

A) Alt+Ctrl+C

B) Ctrl + C

C) Ctrl + Shift + C C) Ctrl + Shift + C

D) Alt + C D) Alt + C

48) Which is a hardware component used by 48) 2a¥e LAN o Faae FZ 3fi¥ LAN T¥ 317 ST %
computers to connect to Ethernet

LAN and |T HaTE F2d & o7 e FET T4 gre aa¥ FdHe Hid

communicate with other devices on the LAN? arg?
A) Ethernet card A) THTE FTE
B) Repeater B) fRfiex
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C) Input device
D) Output device

C) =7 fRar=H
D) s3eqe fearsa

49) When an image is scanned by OCR, which of the 49) OCR ZRT &t T8 i T FLd Y, Hida? &

following attributes of characters are identified?

A) Colour
B) Shape
C) Size

D) Used ink

50) Malware is a software designed to

i) disrupt computer operation
ii) gather sensitive information

i) gain unauthorized access to computer systems
Select the CORRECT option from the given options:

A) i, ii and iii
B) Only ii
C) Only iii
D) Only i

Referiad & & Fi =T FFewars qg= =t St 872
A) 3T

B) wrfa (2rm)

C) &1 (A=)

D) STIRT fohaT 747 +AT5 1

50) ATTIFY U TiFeaa< g Forehr s« 1 8

1) FFET  HATAT Bl FI FLA 6 [T
ii) FARTINT STTHHRTAT T TR FA & (o7
jii)y FFAeT Freew & SAgFd Tgd UH FA & o0

f&w U Aot & wet faeew &1 =F99 A3

A) i, ii 3 i
B) & i
C) ¥ i
D) ¥a i
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Section 6 - Electrician

51) Which of the following plant has high gestation 51) R&feifad & & #I & =i &l ITATEAIS (SEELTH)
period?

STafer sTfers grat 82
A) Nuclear power plant A) TTHTI ST 697
B) Thermal power plant B) aTq Il G
C) Solar power plant C) | FHeIT 595
D) Large hydropower plant D) aI=T S« g &3

52) Which among the following is the energy 52) Tolfae® & gie Fddcy H MHoled § | i d7 Fol

conversion principle in an electric room heat wqTaer ffrgid 82
converter ?

A) Arc heating A) 3T g

B) Induction heating B) TEeIA SifewT
C) Resistance heating C) TRrea gt
D) Infra-red heating D) T9RT-¥E gifeTr

53) When the load resistance is equal to source 53) STa @Te TfALre BT WTArel F F<rae grav g, ar == &

resistance, which of the following is maximum? H AT AT ATeHRTH 2IaT 872
A) Voltage A) Frees

B) Power S)RIEES

C) Power factor C) Ta< FFex

D) Current D) #¥e

54) A synchronous motor running with normal 54) T& ATHTT IASHT & AT T BT Reh [T qle dre
excitation adjusts to change in load by change in § qiede FATAS Fd o forr (e & & e o
ATAT &2
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A) Power angle A) TTET T
B) Back e.m.f. B) s e.m.f.
C) Torque angle C) 2T &I
D) Armature current D) =< Fie

55) A two-way switching connection is generally used 55) U -3 R =T FHrFIT T TEIHTA AHAL I 7H § 7

for: feraferT o StTar 87

A) Staircase wiring A) HTET T FmataT & forg
B) Concealed wiring B) #ivdtee amafir & forw
C) CTS wiring C) CTS amafr % forw

D) Conduit wiring D) Firgze amEa & faw

56) What is the current rating (in ground) for a 1.1 kV %66) 10 sq. mm. ¥ AT FEFeT & F 1.1 kV XLPE

XLPE insulated single conductor aluminium cable of 3qes e Feder AHIAAR Fad & 0 Fie T
nominal conductor area of 10 sq. mm.? (ST ) |7 8?

A) 55 A A) 55 A

B) 50 A B) 50 A

C) 45 A C) 45 A

D)40 A D)40 A

57) Which of the following»is TRUE statement with 57) fafssr SoT 59 & €9 § FIH-97 FA7 Tl 87

respect to different power plants? A) ST BT HATI St S ¥ e AT TEHT St
A) Running cost of Steam power plant is lower than T agd TR

Nuclear power plant N C e 5
B) No cost for fuel transportation is required in Steam B) #T g;:; TG A H St F fe e
power plants E ST Tl BT

C) Nuclear power plants are always located in C) T¥HT] Hs(T HA SHAT SATET AT &1 § *IT g &
populated areas D) TRHTI] SSTT HAAT T TETETT AN SIoed 11 HHA1 &

D) Maintenance cost of Nuclear power plants is - TN FT i e 2
higher than Diesel power plants as highly skilled AT & I T2 T # g
workers are required
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58) The helical coils are generally used for: 58) BereheT FiTed T TEAHTA AHA T 9T o forw grar g2
A) Low voltage windings of small single phase

transformers A) e T el ZiHT & =9 aieest arsfe & fou
B) Low voltage windings of large transformers B) a2 ZiEHIYY * A% dieew arsfE & forw
C) High voltage windings of large transformers C) 92 TR % IF ATee AT % fou
D) High voltage windings of small transformers D) &1 ZIAHIHT % IF dloes AT & o0

59) Reflection factor in illumination engineering is 59) TEAHFIT SSIHATIT H 92TEdd F1F (reflection

defined as: factor) T o wahe wfeaTfera o StTar 82
A) Ratio of refracted light to incident light A) STIATAT TR T AT STRTET T STATT
B) Ratio of absorbed light to incident light B) STaSTITOT TTET T SATTTAd ST & SAATT
C) Ratio of reflected light to absorbed light C) TTafci . ShTeT T AAIMTT STRTLT T ST
D) Ratio of reflected light to incident light D) IXTatde STeRTeT T STIfaa ShTer & SqaTa

60) For performing megger test on low voltage 60) F FTeest ITLHLON (440V) IT TX 3€€ FIA & [0
equipments (440V), the sufficient voltage rating is: TATH FTees LT g

A) 1000 V A) 1000 V
B) 1500 V B) 1500 V
C) 2000 V C) 2000 V
D) 500 V D) 500 V

61) In a short circuit test on a circuit breaker, the 61) =l @fdhe sz ux fFFu 7o o afde si= ¥, R

following readings were obtained on single frequency TRgwlT giferie a¥ Meferfea =T wTa ger om)
transient.

a. Time to reach the peak restriking voltage =50 usec  a. T1& {FeT AT AeesT aF Tga & 997 =50 psec
b. The peak restriking voltage=125 kV b. dTa TrearsfaT Feest =125 kV
What is its average RRRV? s|a RRRV e 872
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A) 0.2 kV/usec A) 0.2 kV/usec
B) 2.5 kV/pusec B) 2.5 kV/usec
C) 2.0 kV/usec C) 2.0 kV/usec
D) 25 kV/usec D) 25 kV/usec

62) The wiring systems which is free from electric 62) ag ATATIT (FFeH FHI AT ST TASTAT & Al § qh 57

shock is

A) Wave wiring INEEEIRIELS

B) Casing and capping wiring B) sRfET 3fi¥ shfUT ararfaar
C) Lead sheathed wiring C) =T eftars arafi

D) Batten wiring D) se arafiar

63) What is the maximum limit of earth leakage current 63) #azTgra a9 IEC60601-1 % AT o1 FHleheT Fic

according to international standard IEC60601-1? FT SAferad HHT fohaar 872
A) 0.2 mA A) 0.2 mA

B) 1 mA B) 1 mA

C) 0.4 mA C)0.4 mA

D) 0.1 mA D) 0.1 mA

64) Which of the following statements is a 64) FEfofEad 9 97 FI9 IR soATee Gfhe TH T TH

disadvantage of an Air Blast Circuit Breaker? AATH 872
A) Fire hazards are possible with this type of circuit A) TH T&HTT % Hfhe oo | AN % AL i TATEAT gl g
breaker B) g gT¢ ©fie ereiiore it i ga= Far g
B) It provides facility of high speed reclosure C) fora & % forw et a1 T2t § o =it 2 §
C) The time for which arc persists is short and gets AT T R A
extinguished early D) 1 TR ST 21T ©

D) The high speed operation is achieved
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65) For the variable voltage variable frequency supply 65) T STHH HIZY IT2d & [T TS qleesl ATaA
for an induction motor drive, if rectification is TRTEHT FT AYRT F forw, FfE EFehwee A==t g, ar
uncontrolled, the voltage and frequency can be ieest i< Ft e & & form & A vy ST vy €2

controlled in a

A) Three phase bridge inverter A) T T ToreT T7aex

B) Pulse width modulated inverter B) wew fagy wisgdres s
C) Two phase bridge inverter C) =T %t foret grade

D) Single phase bridge inverter D) fERTer et foret Tvaex

66) The supporting wire which is used in the opposite 66) JAA¥ge FEFL F FHILU, TTel [ AT T TAT 6 [0

direction of tension on the pole due to overhead W= (FAadia faem &) T ST aTer ATIX &1 FAT Fgd 572
conductor is known as

A) bare wire A) 3T TEIT

B) binding wire SEEEUEIRES
C) ground wire C) U3 am T
D) stay wire D) EACIRES

67) The maximum and minimum stresses in the 67) e FT Fad & TTEd | ATTHFAT AT FAqH
dielectric of a single core cablé are 50 k\/cm (rms) and et (F289) F991: 50 kV/cm (rms) 3T 10 kV/cm (rms)
10 kV/cm (rms) respectively. If the conductor diameter g T FEFeT HT ATH 2.5 cm g, AT SrHALH Sl HieTs T

is 2.5 cm, the insulation thickness is %?

A) 10 cm A) 10 cm
B) 4 cm B) 4 cm
C)5cm C)5cm
D)3 cm D)3 cm
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68) The thick insulation paper should extend beyond 68) HTeT SIS YU SATHAT FIT & Tcdh (1L F AT AT
each end of the armature core and it is used in between ZHT FATRT ¥ Ig FAle ATZAL AT q=F & o1 H TIH

the slots liner and wedge. This is called

A) coil separator
B) dielectric separator
C) coil insulation

D) packing strip

ToRIT STTAT €1 T8 AT FEgT SATaT 872
A) FTET HILET

B) STZ-3eifagh HILET

C) FT= AT

D) &feT fRew

69) Which among the following is used in transmission 69) IF dTeesT & AT | MS oI e § 7 FT T AT

of higher voltages (beyond 33 kV)?
A) Suspension type insulators

B) Glass insulators

C) Pin type insulators

D) Strain insulators

ST 22 (33 KV ¥ 39)
A) HEII 21T SHACH
B) ¥TH 3qeH

C) i =7 Sgeey
D) T Sgered

70) Which of the following insulating materials is used 70) sTH=< #T AT * THHAT F forw 7T Twve F7

for impregnation of armature windings?
A) Paint

B) Empire paper

C) Qil

D) Baking varnish

71) Which among the following is the unit of

[lluminance or lllumination?
A) Lux

B) Candela

C) Lumen

D) Candela/sq.m
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72) A 2 pole synchronous generator driven at 1500 rom  72) 1500 rpm 9% FdT gall U 2 T THohITE St o

generates emf at a frequency of: AT I emf I FLAT 872
A) 50 Hz A) 50 Hz
B) 60 Hz B) 60 Hz
C)40Hz C) 40 Hz
D) 25 Hz D) 25 Hz

73) In a split-phase induction motor, the stator is 73) fEcete-thet STH HIex ®, Fa0H a7 UG ATS(S7E

provided with two parallel windings which are &1 @i SITAT & ST U g H Fhaet T 97 (RF=iee) 872
displaced by

A) 90 electrical degrees in space A) TF | 90 Tofeae Rifer
B) 60 electrical degrees in space B) T4H ® 60 Torfargeher feIftsr
C) 180 electrical degrees in space C) g # 180 Teifaeaner RIter
D) 120 electrical degrees in space D) =9 ¥ 120 zorfaeaa Rfier

74) If a three-phase induction motor is operated in 74) afx SF-% TSFHF W2 AT HIE H F=To0d T

motoring mode, the torque is STAT &, a7 2
A) directly proportional to slip A) 5T % HTer AT grat g
B) inversely proportional to $lip B) &7 & eIl giaT &

C) Independent of the slip C) T & Taa= graT g

D) proportional to the square of the slip D) &7 % a1 & AT gl &

75) In a 132 kV system phase to ground capacitance 75) f&t 132 kV foeew %t &t ST FUEw 0.015 uF 8

is 0.015 pF and inductance is 6 H. The value of 3fi¥ S=#H 6 H gl ATeest AT &l geld & (o7 dlehe JFH

resistance to be connected across contacts of circuit Fieeae & T TTT T AT TTALTS HT AT &
breaker to eliminate voltage surges is:
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A) 15 kQ
B) 12 kQ
C) 8 kQ
D) 10 kQ

76) The nature of input in DC generator is:
A) thermal power

B) mechanical power

C) solar power

D) electrical power

77) The voltage drop in feeder is independent of

A) Resistance
B) Length of wire
C) Type of grounding

D) Cross sectional area

78) Choose a CORRECT option regarding the

hydroelectric generation system from the given
statements.

Statement |I: The main function of surge tank is to
reduce the water hammering effect in the penstock.

Statement |l: Penstock is a conduit system for taking
water from the intake works and forebay to the

turbines.

A) Statement |: TRUE, Statement II: TRUE
B) Statement I: FALSE, Statement II: FALSE
C) Statement I: FALSE, Statement II: TRUE
D) Statement I: TRUE, Statement II: FALSE

A) 15 kQ
B) 12 kQ
C) 8 kQ
D) 10 kQ

76) DC S¥e | TAYE il THid FT gl 272
A) ardiT orf<e

B) =it erf=w
C) #iT orfxw
D) fa=ra erf<h

77) HETH Alees T e {76 57
A) atarer

B) AT &t TS

C) ATSTET T THTT

D) e Ao &3

78) foU U FAAT § T AATAYT IATEA TOTAT F Haer |
gl e 74 |

FAT | : ST & T q&F FTA Ueer® | AT & 20 T HI
FH FATE |

FA || : et Toer BT  fiY e | ZxaTeT 9% gt
A % o U AT IOt §

(i) =T 2, (ii) 7L &
(i) I 2, (i) TAT 7
T 2, (ii) T
(i) =21 &, (ii) T 7

B) (i

(i)
i)
C) (i)
) (i)
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79) In engineering drawing, dashed lines represent

A) Hatching line
B) Projection line
C) Hidden edges

D) Centre line

79) FSitfaafiar grEer |, Sor vy w1 gfafAiEeT #3982

A) g sree
S RIEEAEEIED]
C) & gu oA
D) Hex ATeT

80) A room of size 10m x 4m is to be illuminated by ten 80) 10m x 4m 3TTT T U FHT 150 W F T ATIF gTT
150 W lamps. The MSCP of each lamp is 300. Assume S&TeI<h AT ST 21 Y& @FT &1 MSCP 300 zI
a depreciation factor = 0.8 and utilization factor = 0.5. = HTaR FFex = 0.8 % TfeATssIe™ FFex = 0.5 ATH|
The Average illumination produced on the floor WeT (FRTHRT) UT IeATIad SHEd THHTLT Foha«T RIT?

(approx.) will be
A) 200.6 lux
B) 500.8 lux
C) 250.2 lux
D) 294.3 lux

A) 200.6 lux
B) 500.8 lux
C) 250.2 lux
D) 294.3 lux

81) Which among the following is/NOT used to fix 81) &e 9% e ¢fie # oo e & forw Mwfofaa # 9

drawing sheet on the board?
A) Adhesive tapes

B) Drawing pins

C) Clips

D) Threads

FAT Y Al AT SATAT 82
A) e arer T

B) gTET faer

C) e

D) &mr
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82) What is the position of Turbine in thermal power 82) 9He Tfa< Wie | ZaTe Sl [*ITd (TISITI) FAT 872
plant?

A) Immediately after Generator A) ST & A 91

B) In between Boiler and Generator

B) S1aeI< 3T S & = §

C) Immediately before Boiler

C) T & [T g
D) In between Generator and Transformer D) S ¥e 3fi¥ STEHMHL & o |

83) The domestic electrical appliances mostly operate 83) =¥ =@ STHIIT SATATAL Th & ATeesT TT FHIH Fd 57
at what voltage?

A) 40 V AC A) 40 V AC
B) 40 V DC B) 40 V DC
C) 230 V AC C) 230 V AC
D) 130 V DC D) 130 V' DC

84) Which among the following are the main elements, 84) TF ZEHAT ATSH FT T HiqHed HHfrad § F
of a transmission line? A H8?

A) Rotor and transformer

B) Stator, commutator, armature. winding and
supporting tower

C) Conductor and insulation winding C) F=FeT i Trgere TS
D) Conductor, transformer and supporting tower

D) Fe#eT, TAFRIHT 3T AT 29T

A) T(eT 3T STEETHT

B) ¥2e¥, FIeeY, ATHAT ATSISN 3T HOIIET 2a¥

85) Which of the following types of windings is NOT 85) fazrferfera fame werte o a2 T seaaer sistsher D.C

used in D.C machines nowadays? wofi |t # w2l fohaT SITar?
A) Lap winding

A) AT ATEET
B) Duplex Lap winding B) Swad oI AT
C) Gramme-ring winding C) Im-f&r arEEa
D) Wave winding D) = arsfEw
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86) Which of the following motors is used in toys? 86) gt § Maferiad & o T |7 AL T (AT SIar

A) Shaded pole motor e?

B) Capacitor start motor A) 9T 9T WX

C) capacitor start-capacitor run motor B) *huHieY w=2Té ATt

D) split-phase motor C) FUTeT FeTe-FU e T HIeT
D) fReete-thet Hex

87) Read the following statements and choose the 87) Rferfera o=t & U2 siw AghfaseT |
CORRECT option.

(i) Short pitch windings used in synchronous motors (i) fHFE dTe | TEqHTe giv arer orie U= arefes faFa
reduces distorting harmonics. T T FH FEa gl

(i) Short pitch windings used in synchronous motors (if) TerrTer H1ze J ZEqaTe g1 arer arfe forr et & forg
require less overhang copper, hence are economical. T AT T FT STET AT 2, FA T T HE 21T 2

A) (i) is TRUE and (ii) is FALSE A) (i) FET g S (i) 7o 8
B) (i) is FALSE and (ii) is FALSE B) (i) T g S (ii) Ta ©
C) (i) is TRUE and (ii) is TRUE C) (i) e & 7 (ji) #ET 2
D) (i) is FALSE and (ii) is TRUE D) (i) T & S (ii) FET &

88) Which of the following'motors is most commonly 88) WTXI T2 IS o1 TEAATA [T ST AT giTee, el

employed in hoists, cranes used for lifting heavy # sroaie 9¥ Mwferfed o e &1 seaaTe T Sar g2
loads?

A) Stepper Motor A) TIT {2

B) Synchronous Motor B) i A

C) Split Phase Induction Motor C) frete e T HIeX
D) Slip Ring Induction Motor D) f&er a1 Se#are Hrex
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89) In a workshop, a 5 hp, 415 V, 3-phase motor is to 89) fHT U= F&etT ¥ 5 hp, 415 V, 3-%sT AT ATAT JTHT
be installed. Which of the following disconnecting ! ¥ ®1e¥ & fory eferfera fove fewshafarr fa= a1 =
switches should be chosen for this motor? (Assume T SITAT TR (AT o £ 22T 85% & A< wiav Fre

efficiency=85% and power factor=0.8) 0.8%2)

A) ICTP&N 415V, 32 A A) ICTP&N 415V, 32 A
B) ICTP 415V, 32 A B) ICTP 415V, 32 A
C)ICTP&N 415V, 63 A C) ICTP&N 415V, 63 A
D) ICTP 500 V, 63 A D) ICTP 500 V, 63 A

90) In Four Quadrant Operation of electrical drives, 90) Ta=[@ T2 & HIT Flgre AT &, For & & &

which quadrant does Reverse Motoring operation FTgve # fiae HIefiar siqwerT grar g ?
belong to?

A) Sixth quadrant

A) 3T Flg<
B) Third quadrant B) fre=r &g
C) Fourth quadrant C) JT9T FTg=
D) Second quadrant D) gaT Frge

91) At a speed of about 75% of/the. synchronous 91) fa=fa® TfA F AT 75% X T ATFar Fa+,
speed, a centrifugal switch disconnects the auxiliary ffFIersIT ATERET FT ATST TCATE (JTY) & TR FT AT

winding from the line .supply and the split-phase g 9% Fwie % S99 Hied Ao & & e 9 Fadt gt

induction motor continues to run on the g?

A) Running winding A) TET TR

B) Compensating winding B) FIUFHTET ATE =
C) Field winding C) Hhiee aTsfeT

D) Rotor winding D) Tex AT
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92) Three phase induction motors work on the principle 92) T % Se#e HIex e fgid 9% FTH FLar 8?2

of

A) Self induction
B) Biot savart's law
C) Mutual induction

D) Ampere's law

A) T TTFAA

BRI IEICE AR ERE
C) ¥=4 THIT

D) tfewares =1 =

93) Which among the following is the purpose of using 93) sffeeddey # TFIT AT HT\ITAN FIA FT 3297

damper winding in alternator?

A) To boost the speed of alternator

B) To reduce hunting effect

C) To reduce the armature reaction effect

D) To provide starting torque

94) A three phase induction motor is:

(i) Self-starting

(ii) Less armature reaction and brush sparking
because of the absence of commutators and
brushes that may cause sparks

(iii) Non-economical and.robust in construction
(iv) Easier to maintain

(v) Economical and rebust in construction

(vi) Not Self-starting

Select the CORRECT option from the given options.

A) (i), (i), (iii) and (iv) only

) (

B) (i), (ii), (iv) and (v) only

C) (i), (ii), (v) and (vi) only
) (

D) (i), (i), (iv) and (v) only

fReforfea & & fi ar g2

A) sfieee & T AT TETaT a1
B) ST T F FH HIAT

C) =L AT TATE T FHH HTAT
D) TTfET &fF a1 AT

94) TF T el TTFAT HIeL:

(i) TeF-FaTidT g

(ii) FEIESH ST TUH T I o HIL0T ATHAL A HAT HH 37T
ster w7t 3 Foreer R oot aehedt 8

(iii) AT § A7-FFRrEdT ST 759 §

(iv) T@-TETd | A 8

(v) =TT § Tt ofie Astga §

(Vi) HEF-FTIET A51 &

faw U Aot ® & 92T oo 1 91 Fi

A) == (i), (i), (iii) 3 (iv)
B) < (i), (ii), (iv) ¥ (v)
C) e (i), (ii), (v) T (vi)
D) 3 (i), (iii), (iv) 37 (v)
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95) In a power generation plant, the power is always 95) T=[d ItaTa |3 ®, fasTe(l gHAT =7 9T ITIH gl &
generated at

A) Fixed frequency and constant current A) fRa smgy =ie Raw wie
B) Fixed frequency and variable voltage B) o srafxy i ufiadt areest
C) Fixed frequency and constant voltage C) M= sy 3 P qreest
D) Variable frequency and constant voltage D) afad srgfxr e ffuw Freest
96) An autotransformer has 96) U AT EaHHT §
A) four winding A) T AR AT &
B) one winding B) U AT il &
C) three winding C) i+ arsfew it &
D) two winding D) aT aTEfEM Bl 8

97) In a transformer, the energy is transferred from ' 97) Us STE®IUT H ST, ITHL & Ghvedy arsien ¥ &
primary to secondary winding through the medium/of . w&a® & qRa grdt g2

A) leakage current A) STeheT e
B) magnetic flux B) FFehi T FAw
C) air C) gar

D) leakage flux D) wfTehsT Tererey

98) What will happentif 230 V D.C. series motor is 98) #fs 230 V D.C. H¥i& Aiex & 230 V A.C. & &

connected to 230 V A.C. supply? STtrg = ST ar #/a R e
A) The motor will not run at all

B) The motor will run with less efficiency and more A) #1eT faeget T2t =

sparking B) HIe Y T&TaT 3T ATeh TATIRT & AT T
C) The motor will get burn C) HIZ¥ S SATUT
D) The motor will vibrate violently D) AT TS & FHFIT HM
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99) Annual Interest compounded method used in 99) fa=[a WI= & srfermal § WIAH ATMUF AT FAFwF (5 fafer

power plant economics, is also known as &1 o o= AT & oft ST Srar g2
A) Diminishing value method A) Rt aog &ty

B) Activity depreciation method B) ufaefadt sfuffmer fafer

C) Sinking fund method C) fifer %z fafar

D) Straight line method D) ¥z e fafer

100) Which among the following will be the advantage 100) aRuae frg=l ST=a T ITANT FIA T ITFRIOT F

for equipment by using variable frequency drive? et & & & 91 ara grem?

A) Increase vibration of motor A) HTeT & %99 § gfg

B) Increase wear & tear of belt, gear & pulley B) awe, AT i et & 2e-Fe ¥ Il
C) Decrease the equipment life C) SYFLUL & SAad-FTeA H FHHT

D) Decrease maintenance cost D) T@z@Ta it AnTd § FHT
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Answer Key
31.A 61.B
32.D 62.B
33.A 63.B
34.B 64.A
35.D 65.B
36.A 66.D
37.A 67.C
38.C 68.D
39.D 69.A
40.A 70.D
41.B 71.A
42.C 72.D
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44. A T4 A
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46.D 76.B
47. A T77.C
48. A. .78. A
49.B° 79.C
50. A .80.D
51.D.. 81.D
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50.D 89.B
60.D 90.B

49761 _36

91.
92.
93.
94.
95.
96.
97.
98.
99.
100.

OO0 W WmwO®mWwWOH >

Page330f33



